[2]

Qg -1
Section -1

( 3¥ I yreg-HT- 30, 3{H-02)

Y- 1
L., THEATH W QY T W 2 g6 wa # v R
What do you mean by Chemical Equilibrium? Describe it in brief.
2, /@ﬁa Td 3% H 3= FdEU |
Differentiate between mineral and ore.
6. / 3= & fram =t =TEn S
Explain Ohm’s Law.

7. 9ok 99 & =R 3y fafgu )

Write four applications of Solar Cell.
8. ufwy iRk fafire wfly & <= < waEw
Differentiate between resistance and specific resistance.
11. 9 =1 Hifshd == sHREY |
Draw the labelled diagram of a flower.
12. oAl & fafy=r wrnl & s # fafaw)

Write about the various parts of chromosome.

13. &f{d @@ &l GTE1 Sl THIfRG fox #t gema § gwemy |

Explain the structure of chloroplast by well-labelled diagram.

YT - 2
1. ®F F1d HiSC / Find the value of :

(101)* - (99)*
(101)* +(99)*

2]

(2]

12]
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2. @ ufE GEST ST 980 ¥ WS WEm W B wem § 9m 3y W
TR 2 T WES 480 WG B ¥ 1 SR wemsh @ oH 99w
The difference between two rational numbers is 980 When the larger
number is divided by the smaller number, quotient is 2 and remainder is
480. Find the two numbers.

J5 _
3. x @ W W R afy 3oV 3
sx+3+ Ssx o7
Find the value of x if Sv+3-5x :i
sx+3+5x 7

4, a9 2020 § 53 AR Il T Y Wikl @ shito |
Find the probability of getting 53 Sundays in the year 2020.

5. 6x%%z, 24xh*z2, 30x%)32} @1 HeO" guUee dYT @AY gHI9edh 9
hifSTT |
Find the HCF and LCM of 6x%)%z, 24x%422, 30x°y32>.

6. fr=afafaa goft § 2 & WH W E-H F&1 ST ?

5, 16, 51, 158, ?
In the following series, which number will replace the position marked
92 e
RS s
5, 16, 51, 158, ?

HIT-3

1. grfior & & g gt & 9 % 9R & 6 AW fafan
Write the names of four fields in which Information Technology is used in
rural sectors.

2. & T ?

What is Fertilizer?

3. -3 F fegl a1 ol 1 fafa
Write any two advantages of Bio-fertilizer.

4. TR S % A @l w AW fafae

Write the names of two renewable sources of energy.

2]
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5. wofeE weitqal @ e € 2 2]

What are endemic species?

6. oTig au @ € 2 2
What is Acid Rain?

7. Fa-STER FQ? 2]
What is Bio-remediation?
8. sifasfed wgue w1 € 7 2]
What are non-degradable pollutants?
Qusg -2
Section -2

(3T HT yTE-HHT- 60, 3 -04)

-1

3. e ud w0 $2 3 whn ¥ wew s § & TR A S €2 4]
What are alkaline metals? Why do they not occur free in nature?

4, YA FN B 7 THH THES WG Ta 3TN &I faf@T | [4]
What is Teflon? Write its chemical structure and uses.

9. [ H ol wI I i AEA il | [4]
Explain the origin of energy in sun.

14. el ® STRd-vaqq F GUIAET | [4]
Explain the Aerobic Respiration in plants.

15. WK & &M@ ® GHEET| [4]
Explain functions of Blood.

T -2

7. freAfafaa siera s e Afeae 9@ Hifse el £ aiard & 4]

x .12 3 4 S5 6 7 8 9
S 8 10 11 16 20 25 15 9 6

Find the median for the following frequency distribution where f is the
frequency :

x 1 2 3 4 5 6 7 8 9

S8 10 11 16 20 25 15 9 6




[S]

o, T omeH FER F TS T X 200 T ¥, forg g oA T 150 W

s % AR fed T 200 FACH € To1 =N 7 2 150 @A 9 3 R Az @
B LI B Sl e s i
Z 600 B ?

A man earns ¥ 200 on the first day of a month but spends T 150 on the
second day. He earns X 200 on the third day but spends ¥ 150 on the
fourth day. If he continues to do this in the coming days, then on which
day of the month he will have T 600?

9. TF THMSK ¥ 1,540 HI W W T Aeq 9=l & | Th Medql W I 12%
oY A T W IH 12% H B Bl B 1 AT A F foma W gHAR
1 FA Toha Y e B B Q2
A shopkeeper sells two radios at the rate of ¥ 1,540. On one radio, he
earns 12% profit while on the other, he gets 12% loss. What is the total
profit or loss of the shopkeeper on the sale of two radios?

HT-3

9, Sfae AR & Y Ta g fafEn |

Write the benefits and hazards of bio-insecticides.

10. 19 9§ HieIRes 941 &1 fafy fafaw)

Write the method of preparation of pesticides from Neem.

11. 4fs & Iufed g=a yguenl & an H faf@u|

Write about the main pollutants in soil.

12. 9Rd # Uy Sa-fafayar & sy § deq § faf@w|

Write in brief about plant bio-diversity of India.

13. A wgun % | % an § fafe

Write about the sources of thermal pollution.

Qus-3
Section-3
(3T H yreg-Hmr- 100, 376 -08)

-1

8.

uiqed § | ifaym § 7 e, i, Y Ud WHA il ARl it |
What do you mean by metallurgy? Explain calcination, roasting, smelting

and refining.

CA-04
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10. Y % W % Fram aere ) eae i GRS T St e
FodITaTd, HEET | €9 A S-S WK % ol w1 SEeRt ST RN HH
L THI T 7 [8]
State the laws of reflection of light. Give various characteristics of the
image formed by a plane mirror. How can we distinguish between three

different types of mirrors just by looking at them?

16. diei o 31T YoM % YR AU | (8]

Write the types of asexual reproduction in plants.

HIT-2
10. et wEfe & U FHER! 1 aMtE aa9 T 12 A@ § | TR HbH hT
vl & oot aun 3 FE SEd ot T8 %1 afe I 31y 45 9§ 7, @
foxdta a9 2019-20 H S®F R T HFF HT TAT HIT | [8]
Annual salary of an employee of any office is ¥ 12 lacs. He does not
get any House Rent Allowance and he has no savings. His age 1s 45
years. Calculate the income tax to be paid by him in the financial
year 2019-20.

1. g & Tk ¥ § me9< g-uee F A uw geer fea mn, fere

A survey was carried out to find the favourite beverage preferred by a

certain group of young people. The result is shown in the given diagram
(Pie-chart) :

(¢) #A9FTE g FH-T @-92d 9872 w1 § 2

(b) Az 600 a1 JH &= Fd ¢ A1 fwa qansi w wda g w0 [4+4=8)
(a) Which type of beverage is liked by the maximum young people?

(h) If 600 young people like juice, then how many young people

were surveyed?

CA-04
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-3
4, ST B TV AR A W wfera froph fafay

Write short note on future of rural marketing in India,

15, S fafasmn & WA W F1 avi Hifiu

Describe the in-situ conservation of bio-diversity.

16. 29 afere Wot H Feichriie & yfww &1 aul i

Describe the role of vermicompost for solid waste management.

©us -4
Section - 4
(3T =t 9Te3-¥|T- 125, 3fw-10)
(39 TUT | UIT-2 | FA 2 Yoo 1@a/OR ¥ w9 ¥ fow mw ¥
el T TTH W R 1 IW AT B )
HIT- 2
12. f=fafed § 9 6l g W 37% SAfwd wd Fifde | fewfmi fafae : [5x2=10]
(a) & e
(b)  vTERt=E
(c)  ifFard AT
Write notes on any fwo of the following regarding their individuality
and work :
(a)  Varah Mihir

(b)  Bhaskaracharya
(¢)  Shriniwas Ramanujan

3YUar/OR

(@) 200 forenfeldi & e @ & fou TowR =@ 40 9T fohan man) =g
Yo% urn T T o fawnfeEi & 3ihl @I, S feh 43 & 35 9, Terd
¥ 34 9 53 Ug forn TN A1 TH WYE % U W IR wied
AT I | (5]
For a group of 200 students, the arithmetic mean was found to
be 40. Later on it was discovered that the scores 43 and 35 were
misread as 34 and 53. Calculate the corrected arithmetic mean for

this group.

CA-04
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(b) Hﬁ%w,zoo%mmmﬁ4aﬁﬁﬁaw%1,mog”TGﬂ?ﬂ%,?ﬁ

=S F1 aIfeR T A HifSC | (5]
If 1,200 becomes ¥ 1,440 in 4 years with simple interest, then

calculate the rate of interest per year.

WQug -5
Section-5

( 3TT HT I=E-H\T- 175, 3AH-15)

(38 @UE ¥ UM~ 1 TE 3 ¥ INER Het 4 W9 swar/OR & w9 H fg ¥
armefl Y WMT-1 93 § | 1-1 &7 39X 7 Hfard ®1)

T - |
17. Y- TYSU I GRUE S gU 3HEHI GHHAT % Y@ el i THERC | [15]

Give the definition of Photosynthesis and explain its main steps.

HIar/OR
Wl ¥ R Ud TIel BT % wE F gUA I
Describe the male and female hormones in human being.
-3
17. T S F9 WE F1 A S 2 WRA § FRRA ATwwE G969 % W fafew)
YT Fol & oY Td B 1 THART | [15]
How is the nuclear energy found? Give the names of the nuclear reactors

working in India. Explain the advantages and disadvantages of nuclear
energy.

3ar/OR

el WguF 1 & 7 T WO H1 HAE, Ui, S=] R aArdenel § @ s
wrE TEdl § 7

What is water pollutant? What are the various harmful effects of water
pollution on human, plants, animal and environment?
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